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OJH 1st area Athletics Time/Record Trials
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Bt Bzl K& SR mE B[] LR =13l
2020 9R13H 10:00 =) 29.0°C 1% 0.0m/s AR BB % #h 2 £ 5 35
2020 9R13H 11:00 £Y 30.0°C 67% ElED 0.7m/s AR BB % #h 2 k£ 5 35
2020 9R13H 12:00 £Y 30.0°C 67% ZED 0.5m/s AR BB % #h 2 k£ 5 35
2020 9R13H 13:00 £Y 31.5°C 59% ZED 0.4m/s AR BB % #h 2 £ 5 35
2020 9R13H 14:00 £Y 30.0°C 61% ZED 1.7m/s AR BB % #h 2 k£ 5 35
2020 9R13H 15:00 =) 30.5°C 59% R 0.3m/s AR BB % #h 2 £ 5 35
20202 9R13H 16:00 =) 31.0°C 60% 0.0m/s AR BB % #h 2 k£ 5 35
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700m 9/13 [1&F1 A (D 12.46/-2.0| 5% B () 66/-2.0 IuE EF (D EERET0) 78/2.0| %@ HEM 83/-2.0|AH B ) B RAD ET=RE-10) 13.11/-2.0
Bip+m @h= @h= BE & 1es Bipn BhtA
700m 9/13 [RE E—) 12.06/+0. 1|1 BE Q2 R REET) ) HiEm mAQ 2.36/+0.0| &ZE A Q) 37/40.1|@% O =M REQ B BAQ 12.45/40.
# B s+t HLE KEE ABKRE s+t Bip+m &
100m o/13 [k BE Q) 11.32/-0.1| % 5 (3) 36/-0.1|mA 7 (3) T 2B 50EG) 1.70/-0.1| 28 %= @ A A BAG BE HZ0) HE Q) 11.93/+1.1
# A Bh— 15 HE 4 i Biht+A WE=
200m
200m o/13 [ B @) 24.73/-0.1 68 RA ) 00/-1.8|HE B Q) =i BE Q@ 29/-0.1|AH BB Q) 32/-0.1| A oA (D) RE ERQ) BE %£—E(2)  25.79/-1.8
FLH HE KK s gh= & B KE=
200m
&
400m 9/13 |H1& F0#E (1) 17.18| kK =4B (1) 1:23.88
# @chpm @
400m o/13 [ XM BRQ 55. 79| %19 %E 2 58.34| =) Q) FR ARQ® 1:01. 13| BR %8 ) 101,93 RE Z—(2) W& WA Q) Rl ETF Q) 1:02.95
Bipt— Bh+m AZKHE HEE Bh+m i @t Bot=
400m 9/13 |lLAx E/ N () 53.60|#)l Q) 57.52| 0@ $REE (3)
A Boh+A &
800m KRIEEIR-E10) 19,3458 2E () 222 83| B5 WA () &l A (1) 24,25 3R () 724 38R BED EYY0) CEREINO) 2:34.49
# HE— st TRS| 2o+ — BE TRS| e /\ TRS| &b\ & shtA RS
800m 13 [ XE BEO 021|638 Q) 211, 29| RE R (D) ER BB 7.32|BE RRQ) 19.40/5E E&EQ NI T BAQ 2:20.93
BE Bh+— Bz HE= B+t KE= P AR
800m o/13 [IE 8% Q) 05,322V BH0 7.08.54| Bk HE ) =S BEQ) 15.50|BA BA Q) 718 49| A EHEO) AE REQ)
Bipt— HE= s o\ s RE &
1500m o/13 [k M (D 475,28 BA —® (1) TR ET ) 5.04.99 B A5 (D 5.08.04|E# BA () 5.09.32|8kE —2 7 (1) 51048 faE EE(D 511,29 A Fm(D 5:12.09
Bipt— HE— BE BE FLE =il TRS| 2 ch+— g+t
1500m 9/13 |8 BEQ® 103 % 5% BEQ 437,56 '@ BA Q) 43860 /M8 REQ LB 1HE BIQ 14879 %8% BEQ® 15232 R BAQ 45346 BB 45432
# & M KAt HE= 2= e e Bht—
1500m o/13 [Kil BB Q) 430 28| B K ) 37| Bz G) 43763 | oA AR () 439192k PR 44405 BB ERQ 10U BaEG) 14621 BR E2£0) 4.46.52
# =2 TRG | &h = WH= 2\ EHF WH= i 1t =1 TRS
3000m 9/13 |#H@ I (1) 11:34. 70| A% —$1(1) 11:42.16
=il =
3000m 9/13 | K& ik (2) 10:18. 14| st #ERH/ (2) 10:19.80| KiE £X(2) 11:36. 41
# fE &% =
3000m 9/13 |k FE5(3) 9:36. 03| ik #F () 9:37.02| "R FZEQ) 9:48.25|hiF =FQ) 9:59.85|#A EEQ) 10:10. 62
# @h)\ & 5 &% B\
110mYH 9/13 |#&IE KI5 (1) 21.90/+0.0
(0. 914m) S+
110mVYH 9/13 |E A (2) 16.58/+0.0|# ¥AK (2) 20.55/+0.0
(0. 914m) piufz:] il
110mYH 9/13 |£HE HF Q) 14.92/+0.0| &% H Q) 16.05/+0.0| 88K {&A(3) 17.10/+0.0
(0. 914m) HE Boh— &
4%x100m 9/13 | &h+m 50.91| &= 51. 31| #HL & 53.63|4 55.25 | EmE— 55.56 | &b A 57.97
57 WA X R A (1) ER 2R EI T WE (1) mE £
FE BE EB() = () 2y I BIRE(1) =8 AF ) AR HEE ()
PR ) WE A ) A Bk (1) AE gL wE EAW) Bt ()
#F HA ) WE EE ) =B FEW) O H—E() W ) Wi =)
4%x100m 9/13 | Bh— 44. 59| #rdt B 45.70| &+ K 46. 02|45 47.36|2rhm 47.95| &b A 48.36| & & 48.42| &b+ 48. 47
o A EHE) HE LA0G) Y— K EEQ WE B G) = EAHO Er FIR M) HE BAQ SR REO)
FHE XE BZHO) BROEO hE RE®) £@ kEQ) BE E—(Q) EE Q) CEES 10! RBIR #:©2)
x5 H0G) OBt Q) RE HAQ) AW Sk Q) #E BREQ) RO S Q2 NER A ) mE &N Q)
A 1) H# FAG) ENIR 10\ B EAQ BE S Q FE BAQ BN TN TH HHG)
ZFHEER 9/13 [M% &AM n30| & 2 (1) 1n25
FE Brhs B
B EE 913 |FEE BHQ m60| =£ k& () 1m40
i Bcht— &
ZToh e 913 &E MQ) In75| /N AL (3) 1nS5| B&E %5 (3) 1m50
3% tes Bt S
] 9/13[@sh EE() 20| Eeh 15 (2) 3mio
P2 Bl M
FFT EEk 9/13 |£E BAEQ) 3m80
= 3 &F s
ST iR o/13 |[BR BED nT2/-0. 8| BE Bt (1) n25/-0.1|FR &k () In20/+0.6|B% —ER(1)  4mi5/-0.8| @ ZM (1) n12/+0 3| EE BE () mii/-0.7| @ @) n09/-0.6|KE BE() 4n03/-0.
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TE% L Bt 14 2{ 3 4 51 6 74 8
%7‘4’ FENEBE 9/13 |&&E E# (2 5mb6/-1.0| IR K& (2) 5m45/-0.3| F&H i (2) 5m12/-0.5| % 7 (2) 4m96/+0.0| &£ &= (2) 4m86/-0.6|H L+ 1EH(2) 4m81/-0.1|7F% %5h(2) Am74/+0. 3 |#&JIl R (2) 4m60/+0. 8
F2H Biht+A HEE 24+E KEE KEE E KEE Bip+m
57 cp| FEVRER /13 [BA 79 ) tm27/1.2| RE BA®) 5m62/-0.5|\LE & (3) 5m61/+0. 0| Al Z% (3) 557/-0.7| =% %3 nd6/-0.4| KE BZE(3)  5nd6/-1.6|EB LA 5n01/-0.4| NEE fEAG)  4m90/-0.3
Epp tes B+ A 4 Ba & Bop— i R
ZE /13 [#E A O 11m10/-0.6
Xl
ZFH AR 9/13 [ILF () 8m81| fiL e (1) 5m25[ E3 & (1) 5m5 | Bk 22 (1) 4m90
# 14| (4. 000kg) & e85 = fE=
ZFH AR 913 [HE BRQ mi7[E BXRQ) 8mi1[® X3 (2) 98| RE At (2) 667 A A (Q2) 6m37
# 2% (5. 000ke) & BA BA FIEA KE=
BT F AR 913 [E@ %= Q) 10m93| A& BA (3) on54
# 3% (5. 000ke) & s
G o/13 %8 @b 0 30m65| A ERAHS 2) 26n33| FE A () 26001 BE S @) 25m54 | B AEES ) 205 | BE 1B Q) ITIEERE 10 PIET S 10) 10m67
AR (1 500kg) il Bh— Bh+m m Boht— B I Bihtm
KFH 100m o/13 | ka1 BEP()  12.76/+1.5 &I BE ) 13.02/+1 5| ARE BF () 13 44/+1 5| @@ E= (D) 13.76/40.1 | M 0% (1) 13.82/+1.5| /1% 4R (1) 13.88/+1.5 @k BHD 13.89/+0.2|&E &7 () 13.96/+1.5
F1HE S Bz e B BE i Bh+E Bz
ﬁ?—r—h 100m 913 | & HQ) 13.22/-0. 8| #EA =k (2) 13.25/-0.8|#x@ A (2) 13.61/-0.8| k8 KREEFQ) 13.78/-0.8|iE& BAF(2) 13.86/-0.8 | #H ZF(2) 13.96/-1.0/hL BE(2) 14.05/-0.8|FFR ®W5%(2) 14.12/-0.8
F2H BE Boh+E e85 Y AZKHE HE— Bopt— &
§¥=P 100m 9/13 |15t FE (3) 12.86/+0. 8| & =4t (3) 13.17/+0.8|%8@ 2F Q) 13.34/+0.8| &L #F Q3) 13.46/+0.8| ML & (3) 13.66/+0. 8| &)1l b HRFL(3) 13.79/-0.6| &A@ ZEZXQ) 14.39/-0.9| B FHEE Q) 14.49/-0.9
#35 KEE HE— Bl HEA & KE= 4 Xl
EFH200m o/13 | X&T BERP()  26.46/-1.0| &) BE) 26.81/-1.0 @@ @n ) 29.21/-1.0| =4 BER()  30.32/-0.6| XH (1) 31.38/-1.0| %@ BR) 31.64/-1.0{ e T () 30.73/-0.6| 5% BE() 31.74/-1.0
F1HE S Bz Bz M B+ A i & Xl
§7-¢ 200m 913 |FFR W5%(2) 28.99/+0. 4 :ZAHF HE(2) 29.55/+0.4| BBEH %£H (2) 29.79/+0.4|1hE HEH(2) 30.06/+0.2| &EH E&# () 30.06/+0.4 | Ei#E REE(2) 30.34/+0.2 | 7°BE #F (2) 30.56/+0.4| E# = (2) 31.59/+0.4
#2 il B+ A s B HLE HE= Bopt— HE
EFF800m o/13 [Fri fE () 2:30. 71| =N &dE () 2:40.37| AR EE (1) 2:42. 36|l REE () 2.43.55| 2% & (D) 24361 & @& 2.46.98mE B 2.47.06 | A% BEE() 2.47.63
F1HE FLH B+ A FLE BA Bh+m WE= e20+E e0+E
EFF800m o/13 [ BFQ 2.23. 18| ER BHEQ) 227 14| &R OFE @) 2:33.66| =16 =) 230 15| fEE 0p Y @ 230 0 IBE ERQ 23074 B8 FAQ 2:36.99 | iaF FFQ 2:37.06
F2HF FE— KE= e4+E M WA= Bopt— Bept— AZKHE
57‘4’ 800m 9/13 |BBH #HEQ) 2:29.82|AE ODOH Q) 2:31.61[;tE ZRQ) 2:36. 43| @4t #F Q) 2:36.95
3 K&Kt @ 5 HEA HEA
EFF1500m o/13 [Bm EED 453,97 0% &R () 458 48| ER R EH ) 5:48.60| B =R () 553,00l B (1) 559.00|-f &R 6:16.44 | BA BB §:31.79
1 2rhpm HE= HE= TR5 | 74v7° YavERE =N TR5 | &Il TR5 |2 S
EFF 1500m o/13 |BA MBEQ 5:08.07l0 EEQ® 510.07| 58 EQ 5:10.41| B FXQ 5:16.02|f1E =E ) 5:18. 47| 2B Q) 5:20.03|E E Q) 5:%5. 14| EH BEQ 5:26.53
i Bipt— HE Beh+— BR WA= BR R Xl
§7-¢ 1500m 913 | /R #EEQ) 4:56. 02| AE DDH () 5:08.93| A EH@Q) 5:40. 34
3 =8 TR5| &7 aE
EFH100mJH o/13 | ARE EF()  16.51/-0.18A BED) 18.77/-0.1):IA o) 19.17/-0.1| 51 BE&(1)  10.36/-0. 1Ak TE&0) 19.51/-0. 1B @# (D 19.74/-0.1 A& BEH ) 19.93/-0.1|4tF &M 20.27/-0.
# 15 (0. 762m) fipm Bz B HE BA Bz BR @p=
KFH 100mJH o3 |[BRE FEO 15.28/40.2| 5% 1 (2) 19.20/+0.2| 0 EF @ 19.30/+0.2|BA —_5(@  10.56/+0 2| kB HE(Q) 19.68/+0.2|/NE EBE(Q) 19.91/+0.2
# 25 (0. 760m) Bh+E 4 BA FLE B R
g 100mJH 9o/13 [H@ EB©Q) 14.85/-1.5| %t FATEQ  15.82/-1.5|@HA ER®) 16.99/-1.5|=8 MZEQ) 17.28/-1.5
s 3 2 (0. 762m) sz B S soh—
100mVYH 9/13 | #fFE 38X (3) 21.74/-0.5
(0. 762m) Eh=
4%x100m 9/13 |Bh= 54.12| 8= 56. 98| HAL & 57.65|45T 59. 63| K¥Z K ithH 59.99 | #ritE 1:00.09|¥xE= 1:00.68|Zhh 1:02.81
e = @E (1) FE OBH®) KE BE) Fome (1) BE &) WE #E () B BE() &F RL)
FE HI EE() SR 10 M B (1) A EE®) =L B KB 2 (1) Wi DE () BT ZZ()
A HLS (1) B B B FE ) BE Rk () =L XHE (1) =R EAW) —E FEO) BR OB (1)
BB Bp() =a couW R R W) A% FFED RE BO) WE ER(3) E B530) WO EMEW
4%x100m 9/13 | & 53. 94| EmA 53.98| &8 54.57| &t 54.57| & +— 54.92| &8 55.96| &h= 56.07| &b+ K 56. 11
L7 R OERQ) B FEQ) EETIC) S0 BE Q) WE REE () WF HEQ HE EEQ)
FHE FR HSEQ) B BEQ) il @) ARE EF() k8 RREQ EA JE ) B OEEQ ERH MEQ)
B HEE Q) BE EHQ 58 EQ) IO D7) T &EQ wA LR () HR VAEDQ) SE Q)
Ml BB ARE DB &2 BQ BE EZW) Ml BEQ T 0) £ BEQ —E BKQ
BT T ER 913 [EN PEM 30| #Im —% (1) 20| A #& (1) TEHNEREZI0) 10
F1E ABABE s Bz B+ A
ETFE EEN o/13 Bl K&Q nds| BET OA Y @) a0 el 1 @) m30|EA B Q) 5| B8 ERQ) mO|=E PR BRtA 5
F2HF Biht+A Beht+— tes M i A8 tRFQ Boa
BE HEEQ Bht+t
L7 EiEa o/13 /Il =) an05/+0. 6| 7@ % (1) eA/0. 7| KB EhE (D) wi2/-1.1| &l &0 64/0.9| BB BYUBHI)  Im60/+0 9| EE F&() 57/+0. 1[I & (1) M53/-0.4| K BB() HLEF 3n52/-0.6
i B Ba B+ A B+ A Bht— Btz shtA B3 ME() WAHA n52/+0.4
ESTd /13 &%k WEQ mi2/+0. 1| %8 #RQ) ami0/-0.8|BF OAY @)  4n06/+0.9|{xkk 0LE @) M99/0.1|2F EEQ) nBY/+0.5|BF HE (2 85/-0.1| 84 ZH(Q) MB3/+0.4| BHF BEQ n81/+0.0
F2H B+t Boh+A B BA B+ A Bopt— KEE Bz
ZFh B 913[5TLAR HREQ) 4n82/-0.5/Eh FEE®)  4n36/+0.2[#L M Q) 4n31/-1.3| RI& HE Q) 3m92/+0. 6
#34 RE & BR EEA
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5 wEA B 1 2 3 4% 54 61z 74 8z
&7 AR o/13 BN THEM 97| BH R 1) 5ni9
#1152, 721ke) ABKHE Beh+—
ESalEES 9/13|ARE ZI#HQ) mi7|FE EQ 6m83
F2% 0. 121ke) A eh=
L Fh [k k:'d 9/13 |A|m ZEE®Q) 12m5| LR &H @) 9m35
53 2| (2. 121ke) & &
[k k:'d 9/13 |A|m ZEE®Q) 10m08
(4. 000kg) il
KT F [ o/13| Al WRE (3 2m13| K BE(Q) 94| ARE CC#HQ2) 18m53 |B6H 21 (1) 15m04 |8 B4 (1) nis| =@ FRQ 12n95 |/ BE (D) 1m0z IiE E 7 (1) 10m43
A (1. 000ke) & & BA 15 @h= e2o+E B Bipn




BFhE1HE 100m

24 LL—XR =164

1\@11|fﬁﬂ+ R - A :-2.0 2% JE:—-1.3
g -y - OB 353 Wb B -y P - K 4 [ 25 :
13 114 1M #HA1) LB+ 12. 46 18 123 KB #(1) e Ef%3.02 e
2 6 103 FH# BHK() 2= 12. 66 2 3 114 mx HAXO) 2F+m@ 13.19
3 7 103 luE #EFE() BH= 12.76 3 5 121 K EANQ) M 13.27
4 4 605 Atp KX (1) HEE 12.78 4 6 217 Kt R—#01) {EHF 13.42
5 2 806 HE W®EN BE 12.83 5 4 8656 Bix #E (1) g 14.00
6 5 116 BEO E) 2+x 13.11 6 1 103 EW A 2= 14.21L.207]
71 135 Mg HmA () HEEE 13.38 2 660 /MIF P (1) dtitE DNS
8 660 mAR (1) dtith H DNS 7 121 0 RX(1) tE DNS
3#8 JA :+0. 0 4% JA:-0.5
A : - R L b Bt b=y P- KA B S =P
15 108 | EHE( SHN 13.40 12 605 X2 E&E0) AR 13.24
2 6 101 @ A1) Bh— 13. 46 2 4 131 i 48 (1) HEE— 13. 61
31 841 B M) #FHAH 13.53 3 3 182 iHR R () ERSLH 13.72
4 4 123 mE RK() LBE 13.54 4 6 116 ¥ =) 24K 13.76
5 3 124 #BE X#H (1) RHEXtEA 13.57 5 1 806 Biz R=ZE() ®E 13.87
6 7 116 &k BAK() SH+K 13.88 6 7 103 WA #FWKA) Srp= 14.25L. 2471
7 8 101 E&K #EA () Zh— 13.93 7 8 103 £@ ®A (1) Bh= 16.02
2 660 FE RE() dLitH DNS 5 262 gg&x = [ DNS
1@15,‘@* & & JA.:-0.6 6%H FE:-1.8
Bt b-y tun - OB 353 b P - A B :
12 841 fn@E K1) #FHALH 13.49 15 111 H #EEQ) %EPJ'TEE— E%S.SS e
2 7 107 Iy X)) 2ot 13.67 2 8 115 & =AM Z2H+3H 13.89
31 123 Eff BXR() 2H 13. 96L. 9581 32 136 HEH sk HEEAN 14.40
4 8 806 B ZAH() BR 13.98 4 1 103 hEl F3 (1) 2= 15.03
5 3 116 &H# H\KEO) Zh+K 14.200.105] 5 7 865 #HE (1) =Xl 15.37
4 262 WA EEHA() FHHZ DNS 6 3 103 /ME A 2= 16.161.159]
5 660 R#E @A () JtitmA DNS 4 660 /N #RE() dtithE DNS
6 262 M KE(1) =EH= DNS 6 660 {FT KR4 (1) dtithmE DNS
N 7%8 . A :-0.4 8#A A :-0.1
Bt b-y tun - OB 353 b P - A B :
14 124 13 E#E() KBKHHE 13.63 12 131 @ EAWM "ﬁﬁ% Ef%4.02 e
2 6 135 FH KM () HEER 13.73 2 6 841 EM RE() #HALFH 14.200.191)
3 3 132 B& =H&£(1) EE— 13.96(. 953 3 5 101 B —3(1) Zth— 14.211.207)
4 8 865 BEO 4t—ER() STh 14.12 4 3 113 AE BEEQ) Sft+= 14.25L. 242]
5 7 152 Jiswm E(1) ERELCH 14.14 5 1 841 B &AN) FAF 14.57
6 5 135 FN BAN) EEER 14.16 6 7 806 KEE FHE() =2 14.68
7 1 101 FAE BHHC() Sd— 15.18 4 806 EE TR =B DQ *FS
2 262 5B ECO) B#H= DNS 8 660 LA AN dLithH DNS
9#8 JA :+0. 1 1048 JA:-0.5
Bz -y P K4 OB 087 Wb IR O - S/ OB 353 Yb
1 7 865 ANl EEBX() S 14.42[. 4201 14 112 F 3HE1) L+ 14.79
2 5 806 usF A BE 14.52 3 7 865 k¥ REI() S 14.92
3 4 116 ARA #F(0) E+K 14.78[.774] 4 3 116 & RE(1) E29H+K 14.95
3 8 131 MR EH() HE— 14.78L. 7741 5 6 806 &t tFM \E 15.09
5 1 865 HFiIx ZHM() S 15.05 6 2 131 =% KRHF(1) HE— 15. 34
6 6 841 FH FRE() #HILHE 15.07L. 0691 1 13548 BAW HEER DNS
T 2 841 £ MEN) #HIHF 15.93 5 660 lRE BE) dtitm DNS
3 146 A IEIR(1) BB DNS 8 115 g =iKk() 2%+a DNS
1148 JE+1.1 12%#8 B :+1.5
B -y P K4 OB 087 Wb B -y P-4 OB 5353 Yb
16 135 X&E EX(1) HEAX 15.07L. 0621 11 144 8K @& = 14.58
2 3 15 H)il FHEQA) Sd+E 15.14 2 4 135 &8 BEA(D) HEEE 15. 06
2 % }gg ;ﬁ %ﬂ)ﬁ) EEAN 15.43 3 6 865 RaNl HA) & 15.58[. 572]
2 HE= 15.58[. 5711 4 3 865 IUF ) 4 15. 67
5 4 217 BE# &X0) kHF 15.60 5 7 115 B BEFE (1) éqﬂ-l-ﬂ 16.16L.155]
6 8 101 Bk f@&3(1) =dh— 15. 66 6 5 865 %k REN) %5 17.10
1 660 #AK BEM (1) deitm DNS 2 660 /M BEAGN) dLithHE DNS
5 660 [E BEREE(1) dtitbHE DNS 8 660 L H&E() dtithmE DNS
IE11|§’>‘ftﬂf R - A :-1.8 14%8 JE:+1.5
Bt b-y ton - OB 087 b B -yt - B Rl :
16 111 XK@ =—8() S+— 15. 86 1 j6 133 Eﬁ%ﬁﬂéﬂ) gﬁ% E%SAS e
2 4 136 @ F{EN) HEE\EAX 15. 89 2 7 17 KR =0 24+t 13.80
3 2 116 £ SE(N) E2Hh+K 16.83 3 3 132 A# BIKRER() EHEZ— 14.22
4 7 101 g&#F 2ZQ0) =Sh— 16. 85 4 2 133 mil mHW() EBE= 15.25
5 8 134 5% #E() HEEM 17.03 5 8 117 FEH# #C(0) =d+t 15. 46
6 3 132 ¥a—¥X AN HE— 17.11 6 4 105 EA &E(1) Sha 16.52
5 134 @B ME() HED DNS 5 132 HI B&2E() E@EZ DNS
RITIOIEES ¥/ DNS: & 5/ *FSRIER%— bk (R162.7))



BFhE1HE 100m

15%R JA :-0. 1 16%H JA :+0. 2

L AR L - B Hokd IAVb B L=y - R4 [ = 5% ETOIS
17 109 KK &Ex(1) Zdhi 13.94 17 109 £ FIA() Zdih 13.05
2 4 123 @& BR5 (1) dt2E 14.25[.248] 2 3 109 #H ZE(1) gk 14.42(. 419]
3 2 123 B &) dtEES 14.56 3 5 109 B f&#E (1) Edih, 14.86
4 3 111 EEE #HEN) Z2+— 14.96 4 2 121 ARIR FEQ) A 15.30
5 8 109 #k&k BE() L, 16. 36 5 4 109 A@A £() Edih, 15.76
6 5 111 /s Ex(1) Bd+— 19.80 6 6 109 HE MIEAN) =Zdh 15.90
6 109 AR BRE() Zdh DNS 7 8 109 fgdt #izA (1) ZEohh 17.98
2 A4 L —REE
Bt -y - B B FC 8% =P B -y - KA ] o8k =PV
1 3 114 #M #X(1) Z2d+m 12.46/-2.0 5 2 806 #HE =) =& 12.83/-2.0
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